correct answers of identification

incorrect answers of identification

odorant average of percentage of average of percentage of p-value
hedonic scale children hedonic scale children
apple 1.02 68% 0.48 32% 0.01487
banana 0.88 80% 0.53 20% 0.09794
butter -0.62 42% -0.58 58% 0.84393
coffee 0.41 90% 1.35 10% 0.08444
cut grass 0.33 67% 0.51 33% 0.04935
fish -0.74 60% 0.04 40% 0.00063
flower 0.86 72% 0.60 28% 0.10135
lemon 1.02 70% 0.41 30% 0.00840
onion -0.52 73% 0.40 27% 0.00012
orange 1.16 73% 0.86 27% 0.17234
peach 1.29 81% 0.65 19% 0.00309
strawberry 1.04 53% 0.43 47% 0.35148

Table 1 The table depicts average score of pleasantness evaluation of odours - very pleasant

(2) pleasant (1), neutral (0), unpleasant (-1), and very unpleasant (-2) for each odorant based

on correct on incorrect answer in identification part, percentage of children who correctly or

incorrectly identify the odorant and p-value.




